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1) $olg= 210-01 (50,0009 x 5% x 43]= 1,000
St EAHEY 9,842 9,614 228
1. =X AE A (24827 AL £3] 9,842 9,614 228

7t S EA B FAA S 4,136

1) $olg= 210-01 (50,0009 x 9% x 43]= 1,800

2) ZIAr (4R 2,000

7H 7= 210-06 [160,0009 x 29 x 43 = 1,280

W) %3} 210—06 |90,000¢] X 2 X 44| b= 720

3) e 21006 |14,0009 x 3] X 2] 7k x 43] = 336

& TR B s e R R R P ] 750

1) $olg= 210-01 (50,0009 x 5% x 33]= 750

th ST A AA R Y 4,956

1) $odgx 210-01 (50,0009 x 6% x 43]= 1,200

2) A} A = 210-01 |5,0009 x 100%-= 500

3) ZHAHrE (LR 2,000

7H 7= 21006 |160,0009 x 2 x 43] = 1,280

W) =3 210-06 90,0009 x 27 x 4 3] = 720




B K i AT A < oA Ed e 20229 (A) | 20214 ®B) | % (A-B)
oA | Ae | A ﬂ B - - - i

4) 7FAFAn] A n) 210-06 [70,000¢ x 21 x 43] = 560

5 i 210-06 |14,000€ X 3u) X 22| 7} x 43] = 336

6) 7+-An) 310—-01 |3,000¢ x 307 x 48] = 360
ERIE Y 252,675 146,270 106,405
E3lenggs 155,665 55,665 100,000
L. AL =LY (FBTEA ALuE 7] 155,665 55,665 100,000

7h B adEel 3 EAd 114,920

1) S98% 210-01 [50,000€ X 10% x 23] = 1,000

2) AAFSTr 210-06 [40,000€ x5 = 200

3) AFAE 210-07 [500,0009 > 1¢]= 500

4) A EH] (ot zFl ¢ A5) 210-01 [4,500,0009 x 17/} 3= 4,500

5) 2|3 230-02 [15,0009 %109 x 23] = 300

6) A AN 420—-02 (100,000,000 x8.42% x 1 7] . = 8,420

7) A|AlH) 420-03 (100,000,000 > 17) = 100,000

U 2 stuntgEold x4 620—03 [9,900,0009 x 47§ = 39,600

o o5 A 3 1,145

1) $98= 210-01 |50,0009 X 3%= 150

2) 2t AtE 210-07 [500,0009 > 1¢]= 500

3) 2lH] 310-01 [8,00091 x 457 = 360

4) 7v211) 310-01 [3,0009 x 457 = 135
AZEA ST E 97,010 90,605 6,405
1. AZ 24 A8 3 6,265 6,265 0

7h A=AadA S 3 6,265

1) A=mz 310-01 [50,000¢1 x 879 = 4,350

2) A u 1.915

7)) Zeukn) 310-01 [50,000€ %109 x 23] = 1,000

) 24 310-01 [8,0009 %157 = 120

o) o 3o 210-12 |100,0009 x 67 = 600

2}) & 2] 3| 230-02 [15,0009 %139 = 195
2. 7| ek 8-tj) 3 24,635 24,235 400

7} S o) 3 14,345

D 74t 3] 8,090

7hH L9 8= 210-01 [50,0009 x79% = 3,950

W) A 840

(1) 7]+ 210-06 (40,0009 x 147 = 560

(2) =3} 210-06 [20,0009 x 147 = 280

) A=A o 210-07 [400,0009 x1%= 400

2}) 2l At w 210-07 [500,0009 x 1¢)= 500

u}) & 2] 3 230-02 [15,0009 x 409 = 600

uh) A w 3 310—01 |200,0009 x 971 ¥l = 1,800




l,?__rTy_ ;S]i—]l] I:/_]"CH ’H]%L /\}‘ﬁﬂ]oﬂ E_}\ﬂE. A iLHo:] =
2 AN Ayl Apol = = — A5 dEUY 2022 (A) | 20219 (B) | SH(A-B)
2) W7 ]
71 +9LE 210-01 |50,0009 x33%=
W AR
(1) 71% 210—-06 |40,0009 x 124 =
(2) =7 210-06 [20,000¢ x 129 =
th Aldelxta 210—-07 |705,000¢ x 14 =
2} o] 3 230—-02 |15,0009 X 204 =
u}) A=E 2 310-01 |180,0009 x 16718 =
U 25 7o) 8
D 73]
7h &9 8% 210—-01 50,0009 X 25%=
1} Zuk) 310—-01 |50,0009 X104 x2Q =
h) AEAdxte 210—-07 |700,000¢ x 1t)=
2} A1H) 310—01 (8,000 X257 X 63]=
2) St FFEAFA
7h 9 8% 210—-01 50,0009 X 30%=
) Zuk) 310-01 50,0009 X6 x 29 =
) AEdxte 210—-07 |700,000¢ x 1t)=
2} AH) 310-01 38,0009 x40% x 23] =
3) WA A& 3]
7H 9 8F 210-01 100,000 x 24%:=
) 393 230—02 |15,0009 x 2074 =
3. $HFTELY (91923733 A L uj&] 6,005
7h SAEFEED
1) 258w 620—03 |500,000¢] x 4874 =
2) Z8kw 620—03 |500,000¢ x 394 =
uh A AL
1) EHL= 210—12 |100,0009 X 32%=
2) 3 &AL ZHn 210—12 150,000 x 219 x 23] =
3) AAZxH 210—-12 (250,000 X217 x 28] =
o FadntEd A
1) A=A R 2H) 620—03 |15,0009 X874 X 23] =
SYYEA = 14,634
S EA =X ¢ -3,219
1. A28 TFAL 100
7t AFLAAFERY
1) == 210—07 |700,000€ x 1t)=
2. St 3 -SAA Y (DFEAN 257 A Al ] -3,319
7). SR B 90 5]
1) ZEHALY




2] 20 e}
s f}% 3;3 At = — A5 AEUS 20229 (A) | 2021€d(B) | SH(A-B)
7h SqnHEE
(1) 53w 620-03 [10,305,0009 =
2) tuZHAH[LY
7h SqnHAEE
(1) =53rw 620—03 |700,0009=
St Z g o u S 35,280 10,024
1. S Z YAt = RFAN D3 ALuE TF] 35,280 10,024
b I ] R T o
1) 985 210-01 50,0009 X 3% x 23] =
2) A= 210-01 [5,0009 x 125 =
3) 3ol 230-02 [15,0009 x 189 x 23] =
L stw A SA Y
1) +9&5 210-01 |100,000€ X 60%F =
o g o A4 o] 9] o 5]
1) 985 210-01 100,000 X 5% x 33]=
2) A (b
7h 71+ 210-06 [160,0009 x 27 x 23] =
) %3 210-06 (90,0009 x 27 x 3A] 7} x 28] =
3) Y 210—06 |14,0009) X 3ul) x 274 x 3A| 7k X 28] =
4) IR+
7 715 210-06 [100,0009 x 7 X 223] =
) ¥ 210—06 |50,0009 X7 x 223] =
5) %749 210-01 [150,00091 x 3A12Fx 2238] =
6) A xE 210—07 (300,000 x 23] =
7) A 23 230-02 15,0009 x 187 x 43] =
8 = 74,650 7,829
1. §(WEE)Z2 A EL29X 4 RFANZS AL 23] 74,650 7,829
7} n S FF A o]h] 220-01 [20,0009 %3 x903] =
U T2 a3edy
1) +98F 210-01 |100,0009 X 70%=
2) T3 QFUALRF-X 4] 210-02 |1,000,0009 x 129 =
3) X Z1:ML-AH] 210-15 [1,000,0009 x 133]=
4) A AAT ] 210-15 100,000 x 8% =
5) THEFA 2| 210-15 |3,000,0009 x 13]=
6) A AALA AN 210-15 [300,0004 x 20 =
7) YA TAA ] 210—15 [100,000€¥ x 108 X 103] =
8) +HHld 210-15 [300,0009 x 37 x 23] =
9) A H] 210-15 |150,0009 x 37 x 23] =
10) A== H| 210—15 [80,000¢9 x12¥=
11) 24] 310-01 [8,0009 x10™ x103]=




no 87 &4 AT At S -5 A=Y 20229 (A) | 2021 ®B) | T2 (A-B)
Tl | oA | A ) T sen = 2 s

12) 7+ 310-01 [3,0009 x 249 x103]= 720

o}, A 51 4,599

1) AF--9] 2} 430-01 [199,0009 x 1tj= 199

2) wEXR 430-01 1,300,000 x 1th= 1,300

3) #Hx|ZLo) 430-01 |250,000€ x 1tf= 250

4) AFEEA 430-01 950,000¢ x 3tf= 2,850

ot AEA 3w 15,500

1) <3 wAFA 1) 210-15 [100,0009 x 5% x13]= 500

2) =3 o9n) 220—-01 20,0009 X 5% X 1203] = 12,000

3) 4384 240—-01 [50,00091 x 57 x 129 = 3,000
QLA 7 2,956 2,956 0
1. QLA B g [(ABFTRF L] 2,956 2,956 0

7t AP A QA W 2,956

1) $94x 210—-01 |3,00091 X 1047 = 312

2) A= 210—15 |3,0009 X 1047 = 312

3) Al zr= 210—07 |500,000¢ x 3th= 1,500

4) 2| 230—-02 8,000 X 1047 = 832
AZ2A8aS 31,850 26,582 5,268
AZASTT LS 31,850 26,582 5,268
1. A2AJTE7RLY [Fa e &7 A e 31,850 26,582 5,268

Zh AZAEEZ G A Y 30,000

1) $9gx 210-01 [50,000€ X 10% X 63] = 3,000

2) A& A 2+ 210-01 |5,000¢ X 100%-= 500

3) AR (YR 3,400

7h 7] 210—06 |160,000€ x5 x 23] = 1,600

W) =3 210—06 90,0009 X 57 x 44| 7= 1,800

4) ZFAFAn A 210—06 70,0009 X 5% x 23] = 700

5 Y18 210—06 [14,000€1 x 30 x 44 7k x 57 = 840

6) AFA e 210—-07 |500,000¢ x 4tf= 2,000

7) A En 210—11 [50,0009 X 25% X 63| = 7,500

8) A3 FEn) 210—15 24,0009 X217 x 153] = 7,560

9) AH| 310-01 [8,0009 X507 x 33]= 1,200

10) 7FAH) 310—01 {3,0009 X507 x 163] = 2,400

11) 893 230—-02 15,0009 x 207 x 33| = 900

. 22T A =8 1,850

1) L94= 210-01 |50,0009 X 6% x 23] = 600

2) AAE =Tk 210-06 (40,0009 x5 x 43]= 800

3) ¥ol3 230—-02 15,0009 X107 x 33| = 450
A A dhu g 3,240 3,160 80
BEEREEDEREES 3,240 3,160 80




TE e At = — A5 AEUS 20229 (A) | 2021€d(B) | SH(A-B)
1. 38 uFAERATEFA A 3,160 80
7} T TA Exl sk
1) 985 210-01 |50,0009 x1%F=
2) A& A2+ 210-01 |5,0009 X 35%-=
3) FNTT 21006 [100,0009 x 2 x 23] =
4) AESTTG 210-06 (40,0009 x 17 x 33]=
5) 393 230-02 |15,0009 x 139 =
6) dAA e 210-01 2,300,000 =
IS EX 1,665,992 -2,892
oA 727,832 -30,042
ey 714,150 -30,160
1. w338t w 84 3% 9 EEERERENES) 411,248 -54,313
7} =374 A
D) GAYAEES 210—13 |354,867,000¢ X 17§7] =
15 L BRI A s R R e
1) +9&5 210-01 [50,0009 x 2% =
2) ZdAFTE (YRh
7H 71 & 210-06 |160,0009 x 2% =
W) =3 210-06 |90,0009 x 2% =
3) g 210—06 |14,000 X 3ull X 2A] 7k x 23] =
4) 2| 310-01 |8,0009 x50% =
Tk Yol AA| AR AL
1) A=A = 210-01 |5,0009 X 100%=
2) ZdAFTE (YR
7H 71 & 210-06 |100,0009 x 2% =
W) =3 210-06 |50,0009 X 2 x 2] 7+=
2. B3 EnlSstw S A X Q (2SN} A LujE] 298,002 24,153
7F B p$eS et w4
1) St AA A (X7 210-13 |179,007,000€ x 17} 7] 2=
2) St A AAEH (FA 210—13 |103,148,000¢ X 17}7] &=
3) =219y 210—13 (10,000,000 x 47} 7] =
3. HFA AAHL-IH A L [(2&F A Adu ] 4,900 0
7} o e= 210-01 [50,0009 x 3% x 23] =
. A3 A = 210-01 |5,0009 X 100%-x 23] =
ok e A A G
1) 7] 210-06 (40,0009 x4 x 23] =
2) =3 210-06 (20,0009 x4 x 23] =
g, Y e
1) 71 210—06 40,0009 x 27 x 23] =
2) =3 210-06 (20,0009 x 2 x 23] =




wgl 8% oy AT ARl A5 AEWY 2022d(A) | 20219 (B) | T#H(A-B)
i I IO < I R ¢ B o e - - o

nf, AH] 310-01 [8,0009 x50% = 400

v, 7F21H] 310-01 [3,0009 x50 x 23] = 300

A}, 93] 230-02 |15,00091 x 10 x 23] = 300

o} Z1)jod H] 1,880

1) = 220-01 (20,0009 x 2% x 313 = 1,240

2) T4 220-01 (40,0009 x 2% x 83| = 640
EEpA%9 13,800 13,682 118
1. 2BZ20339Y (248 A7 Aot T3] [AAA T3] 13,800 13,682 118

b ALY =S 620-03 [12,500,0009 x 17/49= 12,500

U 25 EEdEAAS 1,300

1) $98% 210-01 (50,0009 X 2 x 23] = 200

2) 2}g A= 210-01 [5,0009 x 140% = 700

3) A (YR 400

7H 7= 210-06 [100,0009 x 19 x 23] = 200

W) =3 210-06 [50,0009 x 2417 x 23] = 200
TolES KA AMNA 640,000 640,000 0
SolZSt S 843t 640,000 640,000 0
1. 28aALIx Y [ 2441 40,000 40,000 0

[t A= R A 40,000

1) 25381 620-03 [4,000,0009 x 77} = 28,000

92) Z38ha 620-03 [4,000,0009 x 37} 7= 12,000
2. SRS ALY s (&8 A7 AL T3] [A A L] 600,000 600,000 0

7h nS5Rg g uAd 160,000

1) ex¢ 620-03 [4,000,0009 x 17)¢1= 4,000

2) 258w 620-03 [4,000,0009 x 227 = 88,000

3) Z3tw 620-03 [4,000,0009 x 97 = 36,000

1) 1=8 32,000

7 B 620-03 [4,000,0009 x 47} 7= 16,000

) AFY 620-10 [4,000,0009 x 47} .= 16,000

L= TA L = e B e | 12,090

1) $olgx 210-01 [50,0009 x5% x 103] = 2,500

2) ZAAr R (R 2,580

7H 7= 210-06 [160,0009 x 6™ = 960

W) =3 210-06 [90.0009 x 67 x 34 7= 1,620

3) dae 21006 |14,0009 x 31 X 10 3k= 420

1) A ztE 210-07 [200,0009 %14 = 200

5) Aot 21007 [600,0009 x 1t x 43] = 2,400

6) A e 210—11 |50,000¢] x 4% x 53] = 1,000

7) A3 =] 210—15 20,0009 x50 x 23] = 2,000

8) &< 3 230-02 [15,0009 x 339 x 23] = 990




Lz o ] Al AU =il M=o 2022 (A) | 20219 (B) | =2 (A-B)
i T < R ﬁ R T = = il

o} Folg el A 160,400
1) gAREZ ol 210—15 |800,000¢ x 63/ = 50,400
2) A YA Fole 240-01 |500,0009 X 60718 = 30,000
3) A Au)LF 620—03 |2,000,0009 x 40748 = 80,000
o, e Al A 70,000
1) 253t 620-03 (2,000,000 x 24748l = 48,000
2) F&w 620—03 |2,000,0009 x 4748l = 8,000
3) 15w 14,000
H 2 620—03 |2,000,0009 x 4748l = 8,000
wh) AR 620—10 [2,000,000¢ x 3718 = 6,000
v, SR WS 103,820
D TAeZsAZad 25,200
7H 2E5sw 620-03 [600,0009 x 428F= 25,200
2) BEHFTEXENET 28,000
H BEE 620—03 |2,000,0009 x 1374 = 26,000
W) A S 620-10 [2,000,0009 x 17} 7= 2,000
3) BREISAZAY 13,500
7H ¥ 620-03 [1,500,0009 x 574 = 7,500
) Ao 620—10 |1,500,000¢ x 47} .= 6,000
4) EEAYZE I 87,120
7H $+98F 210-01 [50,0009 X 10%= 500
) A (L) 6,000
(1) 71& 210—-06 |100,000€ x10% x 33]= 3,000

(2) =% 210—06 [50,000€ X109 X 6] 7k= 3,000

thH Aldelxta 210—-07 /500,000 x 23] = 1,000
2} 2kl xta 210—07 300,000 X 4§ x 83] = 9,600
n}h) A& &= 210-15 (20,0009 % 1,001 = 20,020
o B TEATE 21,110
1) £98= 210—01 50,0009 X 5% x 48] = 1,000
2) ZIAr (4R 500
7H 71 & 210—06 |160,0009 x 29 = 320
) =3 210—06 90,000 x 29 = 180
3) Yz 210—06 |14,000 x 3w x 5A] k= 210
4) Zbhn) 210—07 50,0009 X100 = 5,000
5) AlAdelata 210—-07 500,000 x 241 x 23] = 2,000
6) A2 210—07 600,000 x 2t x 23] = 2,400
7) TATY 210—01 |10,0009 X509 x 23] = 1,000
8) A &1 210-11 [20,0009 X 10% x 53] = 1,000
9) A= H 210-15 [20,0009 x50 x 23] = 2,000
10) 893 230—02 15,0009 x50 x 83] = 6,000




B K i AT A < oA Ed e 20229 (A) | 20214 ®B) | % (A-B)
i I O _ B b i - -
A} A A o ErS- 210-13 72,580,000 x 17]7] = 72,580
TSEA L 325,310 298,160 27,150
TSEX AR Y 306,950 279,800 27,150
1. 2 ER AR GA L (& AL 23] 306,950 279,800 27,150
7h AHEA P 30,000
1 $1718k =€ 210-15 |500,000¢1 X 317 = 15,500
2) Y718 aAd 620-03 2,000,000¢) X 57} .= 10,000
3) AEYAY 240-01 |1,500,000¢) x 27} .= 3,000
4) Y EYIAY 210-15 |750,0009 x 27§ 1= 1,500
. w55 A48t mA 256,950
1) 258 (870w) 620-03 143,850,000 = 143,850
2) =8 (370 1) 620-03 |113,100,0004= 113,100
Uh S v A AR =gl ] £ 3 7,030
1) e9¢= 210-01 [50,000€ X 6% X 53] = 1,500
2) A (dyh 4,000
7h 718 210-06 |160,0004¢ x 47 x 43] = 2,560
) =3 210—06 90,0009 X 47 x 43]= 1,440
3) duw 210-06 |14,000€ x 3 X 254 k= 1,050
4) & o] 3 230-02 [15,000€ X 167 x 23] = 480
et g g ulgrt 2,970
1) $94= 210-01 [50,000€ X 8% x 23] = 800
2) A=A 2 210-01 5,000 X 199%-= 995
3) 95 210-06 |100,000¢ x 8= 800
4) & o]3 230-02 |15,000€ x 25 = 375
o}, AEA LT EA R Y 240-01 |2,000,000¢) x 374 & = 6,000
v}, =Zujodn) 4,000
1) 220-01 [20,000€ x 11 X 1003] = 2,000
2) =1 220-01 [40,00091 x 11 X 503] = 2,000
GESUE | dFUFA LA A 18,360 18,360 0
1. Z3 b m 4% 18,360 18,360 0
7h eSS 23 A ¢ 1,800
1) 2=olzz 210-07 [500,000€1 x 1t} = 500
2) A &n) 210-12 |50,000€ x 2674 = 1,300
L ol g Ao wS- g A€ 16,560
1) $9¢= 210-01 50,0009 x 2% x 23] = 200
2) A=A 2 210-01 |10,000€ X 100%+= 1,000
3) BArd 210-06 32,0009 x4 x 1204 3+= 15,360
2AF4 6,416,697 5,910,647 506,050
Ba#s 6,895 6,175 720
EEEEE 2,324 2,324 0
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TE e Ak = — A5 AEUS 20229 (A) | 2021€d(B) | SH(A-B)
1. XA nS 348 0
7F EZH oS
1) =985 210-01 [50,0009 x 2% x 23] =
2) A (YN
7 71& 210-06 [160,000€ x 1 x 23] =
W) %3} 210-06 [90,000¢ X 11 x 2A] 7k=
3) A B A ) 210-06 70,0009 x 17 x 23] =
4) 918 210-06 [14,000¢ x 3ul] x 2A] 7k=
5) A3 21 2AYY w8l dn] 210-01 [100,0009 x 1=
U A A E ST A A
D) +9&5 210-01 |50,0009 x 2% x 33]=
2) A (d
70 71+ 210-06 [100,0009 x 17 x 33] =
W) =3 210-06 [50,000¢ X 11 x 6A] 7k=
o BAAA AL 1
1) 983 210-01 [50,0009 X 2%& x 43]=
A 3ag 720
1. Y =E#z 0
7k BEFAHAY
1) 983 210-01 [61,0009 x1%=
2) AAESTE 210—01 [10,000€ x50th=
2. tATFHNKHFET 720
7F 53 H S 9 2 3
1) +9&+F 210-01 [20,0009 x 4%F=
2) AN+ 210-06 |100,0009 x 127 x 33] =
3) 93 230-02 (15,0009 x 229 =
4 # 505,330
SRR 522,508
1 S 259 240
7}, St A A A A
1) 985 210-01 50,0009 x21%=
2) ZAAr R (R
7H 71 & 210-06 [100,000¢ x 69 =
W) =3 210-06 (50,0009 x 69 =
3) g 210-06 (14,0009 x 31 X 67 x 2A]7k=
L st g dRd
1 #9l3 230-02 [15,0009 x 31 x 23] =
2) &1 310-01 |50,0009 X 367} 3. X 23] =
2. F4aAH A Y [Q4AZ 3 ALuE(EF)] 536,927




Sk ﬁzj 3“23 ﬂiz AU < A= 2=y o 2022d(A) | 20219 (B) | SH(A-B)

1) 29 620—03 [163,529,0009= 163,529
2) AFY 620—10 [26,496,000¢ = 26,496
U 258w 620—03 |1,808,412,0009 = 1,808,412
o}, =aw 1,233,416
1) 29 620-03 [1,132,554,000¢ = 1,132,554
2) AFY 620-10 [100,862,000¢= 100,862
2}, 15w 1,369,227
1) 29 620—03 [705,738,0009= 705,738
2) AFY 620—10 [663,489,0009= 663,489
v, E4Su(FH) 620—03 [54,131,0009 = 54,131
v}, H] 7|58 st 7| s A A 1] X [R1AHA] 374,400
1) 8 57,600
7H AHE 620-10 [57,600,000¢ = 57,600
2) 1&g 316,800
7H &9 620-03 [185,760,0009= 185,760
) A+ 620—10 [131,040,0009= 131,040

3. S FEEFAER AR (A=A 55,110 55,110 0
7F 6219 (29) 620-03 [2,261,0009 = 2,261
U, 25w 620—03 |24,792,0009= 24,792
o}, =8 13,254
1) 29 620-03 [12,330,0009= 12,330
2) AFY 620—10 [924,0009= 924
& 15skw 14,331
1) 29 620-03 [7,481,000¢ = 7,481
2) AFY 620-10 [6,850,000¢ = 6,850
} Esshy (FY) 620—03 [472,0009= 472

AR FAEAL [ A7 AL &] 431,037 445,696 ~14,659
7}, 49 (#F=) 620-03 [13,893,000¢ = 13,893
U, 25w 620—03 163,292,000 = 163,292
o} =aw 116,641
1) 29 620—03 [107,945,0009= 107,945
2) A 620—10 [8,696,000¢ = 8,696
g nEsky 132,217
1) 29 620-03 [67,818,0009 = 67,818
2) AFY 620-10 [64,399,000¢ = 64,399
vh S8t a () 620-03 |4,994,0009 = 4,994

5. Shnl g4 WAL 73 1] (A% A el &] 24,500 24,500 0
7F. F A 2o n) 620—03 [2,450,0009 x 107} = 24,500

stuFA 83 AA 863,400 880,578 -17,178

[1. F2FA717EA 8% [ A7} A L] 863,400 880,578 -17,178




wgl 8% oy AT Ardu o H-A5E e 20229 (A) | 20219 ®B) | T (A-B)
i I I I O K T e - : o
7F = A 7 A 92,979
1) 529 10,000
7hH 3 620—04 |6,000,0009= 6,000
W) AHY 620—11 |4,000,0009= 4,000
2) =5 620—04 |28,190,000¢= 28,190
3) =& w 620—04 |32,120,0009= 32,120
4) 158k 22,669
7hH 3 620—04 |7,219,0009= 7,219
W) A 620—11 |15,450,0009= 15,450
S =R F R R e 770,421
D ARG HT5 134,861
7H A AN 420-02 |102,830,0009 X 8.372%= 8,609
W) WY2A 59 78991 420-02 [15,000,0009 x 124]= 15,000
t}h) A]Adn] 420-03 |102,830,0009 X 124 = 102,830
b 7] 7o) Adn) 620—-03 |5,000,0004 x 14} = 5,000
u}l) F2AH] x}H B A H) 620-03 (3,422,000 x 12 = 3,422
2) FHN A G AT 25,500
7}) Al A 620-03 (25,500,000 x 12]= 25,500
3) dRxA4g A R 503,342
7 A A Y] 420-02 [430,440,000€ x4.70%= 20,231
W) YW2A =9 78991 420-02 [15,000,0009 x 124]= 15,000
th Al AdH] 420-03 1430,440,0009 X 1] = 430,440
) A H-in] 420-05 [430,440,000€ x0.72%= 3,099
up) 7] F-o] A H) 620—03 |4,400,0009 x 12 = 4,400
vh) 28] 2} B A1) 620-03 [30,172,0009 x 1] = 30,172
4) xS HTFH 106,718
7bH A AN 420-02 197,590,0009 X 8.4446%= 8,241
}) Al AdH] 420-03 197,590,00049 x 14 = 97,590
o} A By 420-05 197,590,000¢ X 0.909%= 887
3w A A R T 12,017,189 10,275,397 1,741,792
- H| A Y 10,470,367 8,925,616 1,544,751
EIATAS:R=] PR 10,470,367 8,925,616 1,544,751
1. 7] B89 [zt A e £] 10,397,909 8,925,616 1,472,293
7F x4 620—02 |1,205,623,0009 = 1,205,623
U, 25w 620—02 |5,939,136,000¢9= 5,939,136
o}, Z8w 620—02 |3,253,150,0009 = 3,253,150
2. 397l gH| X Y 72,458 0 72,458
7}, weGol ANA 72,458
1) 258w 620—04 |72,458,0009= 72,458
AP A A A Y 1,546,822 1,349,781 197,041




npl 8% S AT AU < S — = AE S 20229 (A) | 20219 ®B) | #(A-B)
Tl AR | A | A K T e - - °r

JAA¥AFZ A ¢ 1,279,191 1,257,477 21,714
1. QA8 AR AT Z (o] Ak} A Qe ] 1,279,191 1,257,477 21,714

7} a1 An %< 620-08 [1,279,191,000% = 1,279,191
T ANZZER A 267,631 92,304 175,327
1. &gu|A Az (o] At} A u) 4] 267,631 92,304 175,327

7). w7 B8 n) 620-09 [267,631,000¢= 267,631
st Al A ANA 21,960,789 7,518,856 14,441,933
st Al A 21,960,789 7,518,856 14,441,933
s A A 2,188,122 8,970 2,179,152
1. 4FH (A& 3} A e £] 1,930,931 0 1,930,931

7h AT HEA AT S 1,734,058

1) AldH] 1,706,785

7h) TR A w A Al S 420-03 [2,699,0009 X 275m'= 742,225

) EHgaaE 420-03 [1,742,0009 X 275m'= 479,050

) A A= 420-03 [150,870,000¢ x 22 = 301,740

) AGAA = 420-03 (73,970,000 x 14 = 73,970

n}) AABE 420-03 [2,010,0009 X 30m= 60,300

wh) " AN 420-03 [150,00091 X 330m' = 49,500

2) 7+l 420—-04 [1,706,785,0009 X 1.159% = 19,781

3) Al E8] 420-05 [1,706,785,000¢ X 0.439%= 7,492

v Ab 2 G s TS 196,873

1) A]Adn] 192,170

7H A A= 420-03 [150,870,0009 x 14 = 150,870

W) A= al 420-03 [200,0009 % 100m= 20,000

o eSdzrd4d 420-03 [110,000€¥ X 100m= 11,000

&) I3 420-03 [103,0009 % 100m'= 10,300

2) 7+ 420-04 192,170,000€ X 1.714%= 3,293

3) Al F-tfv] 420-05 |192,170,000€ X 0.734%= 1,410
2. FuAA (A3 A A E] 257,191 0 257,191

7}, Al 2 AN E 94,570

1) A An] 420-02 [86,008,0009 X 6.86%= 5,900

2) Al 86,008

7h #ailE (66 m) 420-03 75,830,000 x 135= 75,830

) A A 420-03 |150,000¢] X 67.85m'= 10,178

3) 7+g)n) 420-04 (86,008,000 X 2.146%= 1,845

4) A2 En] 420-05 |86,008,0009 X 0.95%= 817

v A xS E 80,478

1) A AN 420-02 |73,066,000¢ X6.97%= 5,092

2) A1AdH] 73,066

7h #3178 (50m) 420-03 [67,090,0009 x 1 %= 67,090




2 |=]
v Ao iy AEEE %A% AE 20224 (A) | 20219(B) | 27HA-B)

) A A A 420-03 150,000 X 39.84m'= 5,976
3) 7+ H) 420-04 |73,066,0009 x 2.18%= 1,592
4) A B 420-05 73,066,000 X 0.997%= 728

= = S e e T ey 82,143
1) AAm 420-02 |74,590,0009 X 6.96%= 5,191
2) A14dH] 74,590
7h Za7lE (50m’) 420-03 [67,090,0009 x 1%= 67,090
) A 420—-03 |150,0009 X 50m'= 7,500
3) 7Fgn) 420-04 |74,590,0009 X 2.176%= 1,623
4) A B 420-05 |74,590,0009 X 0.991%= 739

A A ANA 19,772,667 7,509,886 12,262,781

1. A A REERERES 15,656,996 4,009,805 11,647,191

7, AL H B 136,197
1) AAm 420-02 |341,360,0009 x 3.041%= 10,380
2) AN 123,360
7H g9 x 420—-03 |123,360,0009 x 14 = 123,360
3) Al E] 420-05 [341,360,000€ X0.72%= 2,457

v adAntEn ey (a1 2HE) 1,053,415
1) Jd¥Ex 733,285
71 A]Zd ] 420-03 [733,285,0009 x 14 = 733,285
2) =z 10,000
7}) vl e 8w A S = 62003 |10,000,000¢ x 12] = 10,000
3) A= 150,065
7h) vl gt A shEn) 620-03 [10,000,0009 x 14 = 10,000
) AlAdn 420-03 [140,065,0009 x 14 = 140,065
4) G 10,000
7h) vl gt A shEn) 620-03 |10,000,0009 x 14 = 10,000
5) g9 150,065
7h wl e et A gk n) 620-03 |10,000,000¢ x 14 = 10,000
) Al Adn] 420-03 [140,065,0009 x 1 2] = 140,065

o 2HAvEN ey 3,773,383
IDINIE- 1,558,475
71 A% 420-03 |1,548,473,0009 x 14 = 1,548,473
) Al AR 420-05 10,002,0009 x 121 = 10,002
2) A 667,341
71 A A 420-02 [142,580,0009 x 1 4] = 142,580
) AlAdn] 420-03 [524,761,0009 x 14 = 524,761
3) Holar 1,547,567
71 A A 420-02 [437,190,0009 x 14 = 437,190
) AlAdn] 420-03 [1,110,377,0009 x 14 = 1,110,377




= 20 o )
Bn f}% 3;3 fl;g Abed el == Az 20224 (A) | 20219 @B) | =7
EIESRER N 538,158
1) A A 420-02 |521,475,0009 X 2.5923%= 13,518
2) A|An 521,475
7 G =aree 420-03 12,830,000 x 52 = 64,150
W) Jedx 420-03 [12,830,0009 x 641 = 76,980
th gl ex % 420-03 [12,830,0009 x 641 = 76,980
2} ofed % 420-03 |12,830,0009 x 2.5 = 32,075
uh) el )AL= 420-03 17,290,000 x 141 = 17,290
v AR = 420-03 [22,880,0009 x 541 = 114,400
AP 9= 420-03 |17,450,000¢1 x 841 = 139,600
3) A] A HjH] 420-05 [521,475,0009 X 0.6069%= 3,165
) 388,335
1) A A 420-02 |374,525,0009 X 2.99%= 11,199
2) A A 374,525
7H FE9A Y x (24 420-03 [10,550,0009 x 941 = 94,950
W) £% % (SAH 420-03 10,550,000 x 241 = 21,100
th) 9HZ(SAD 420-03 10,550,000 x 141 = 10,550
Zh) Wl 9] & (24D 420-03 10,550,000 x 1041 = 105,500
n}) 22 % (LA 420-03 10,550,000 X 0.5 = 5,275
ul) o}l % (£Ah) 420-03 10,550,000 x 421 = 42,200
AP 9984 (LA 420-03 10,550,000 x 74 = 73,850
o}) Ydela== (24 420-03 10,550,000 x 221 = 21,100
3) Al A2 n] 420-05 [374,525,0009 X 0.697%= 2,611
Hh, 91235 7 A 1,062,380
1) A A 420-02 |1,029,480,000¢ % 2.5388%= 26,137
2) A|An 1,029,480
7hH e x 420-03 [22,380,0009 % 2841 = 626,640
}) o}d % 420-03 [22,380,0009 x 241 = 44,760
t}) o]wlx 420-03 22,380,000 x 1641 = 358,080
3) Al A2 n] 420-05 [1,029,480,0009 X 0.6569%= 6,763
Ab BES P E A 162,668
1) A A 420-02 |154,910,0009 % 4.126%= 6,392
2) Al/dH| 154,910
H Gz (EEE0A) 420-03 |2,500,0009 x 184 = 45,000
W) 22 (B3 420-03 |2,500,0009 x 14 = 2,500
) e 2 (B =713 420-03 |2,500,0009 x 3.5 = 8,750
2}) ol (B =713 420-03 |2,500,0009 x 14 = 2,500
h) Gt (B e =03 420-03 |2,500,0009 x 34 = 7,500
vh) A (F =T 420-03 [2,500,0009 x11.54 = 28,750
AP G (FEEH) 420-03 |2,500,000¢ x 241 = 5,000




TE e Ak = — A5 AEUS 20229 (A) | 2021€d(B) | SH(A-B)
o) YA HH (FYH) 420-03 [3,660,0009 x 241 = 7,320
A FE2(EYE) 420-03 [1,910,0009 x 32 = 5,730
2}) oFd % (ZH) 420-03 [3,660,0009 x 12= 3,660
7hH $¥ 1 (EUH) 420-03 [1,910,0009 x 182 = 34,380
B 9 (EYE) 420-03 [1,910,0009 x 221 = 3,820

3) A RH)] 420-05 [154,910,0009 % 0.882%= 1,366
of. o] H 1 882,023
1) A A 420-02 853,400,000 X 2.676%= 22,837
2) A14dv] 853,400
7h g d=hx (99) 420—03 |17,068,0009 x 44 = 68,272
W) FagA x (9d) 420-03 |17.068,0009 x 621 = 102,408
) A % (9)H) 420-03 [17,068,0009 x 1821 = 307,224
2h) A x(g9) 420-03 [17.068,0009 x 3241 = 51,204
vh) AR (2] ) 420-03 (17,068,000 x 24 = 34,136
Hh) 8 1 (219) 420-03 |17.068,0009 x 721 = 119,476
AP $HL-3kw (9H) 420-03 [17,068,000€ X104 = 170,680
3) A]A ] 420-05 [853,400,0009 % 0.678%= 5,786
2F AR 53,600
1) AlAdn] 53,600
7} o]l %= 420—-03 (6,700,000 x 82 = 53,600
2t S F YA (A 22D NE) 6,651,894
1) A A 15,000
7hH EolZgod 420-02 [15,000,0009 x 14]= 15,000
2) A4 6,187,208
7H nANEH 420—-03 [6,187,208,000¢ X 14 = 6,187,208
3) e 420-04 [433,290,000€1 x 14] = 433,290
4) A2 En] 420-05 |16,396,0009 x 12 = 16,396
7}, FAbE] 2l 594,943
1) AlAdH] 590,784
7 o1 % 420-03 [1,632,0009 x 184m'= 300,288
) o}d= 420—-03 (1,632,000 x178m'= 290,496
2) Al E iy 420-05 [590,784,0009 X 0.704%= 4,159
B 13hd w7 A 360,000
1) AlAdH] 360,000
7hH Fd gz 620-03 [30,000,000¢1 x 221 = 60,000
W) G g x 620—03 |30,000,0009 x 4= 120,000
o $¥ g x 620-03 [30,000,0009 x 224 = 60,000
) G T x 620-03 [30,000,0009 x 34 = 90,000
EIDIEN 620—03 130,000,000 x 14 = 30,000
2. FTAIAMNA REE R R 71,250 34,180 37,070




gl B d@H AR Akl A -2 Al 20224 (A) | 20219 ®B) | Z7(A-B)
A4 A A _ B _ - _ = = °r
7V = 23,890
1) AlAdn] 23,890
7h S diibx 420-03 [23,890,00091 x 17 &= 23,890
U =84 27,360
1) AlAdH] 27,360
7hH €5 x(108) 420-03 |13,680,0009 x 12 = 13,680
W) HestEF (108) 420-03 [13,680,0009 x 14]= 13,680
o A ETE A 20,000
1) AldH] 20,000
h FEx 420-03 200,000 X 100m= 20,000
3. YA AN A2 3 AL &] 459,340 61,200 398,140
7} B 459,340
1) A A 420-02 |443,520,000¢1 X 2.8509%= 12,644
2) A14dH] 443,520
7h 3&stw 420-03 [7,920,0009 x 564 = 443,520
3) Al EH] 420—05 [443,520,000¢ X0.716%= 3,176
4. BAAENA R R R 187,143 10,960 176,183
7} W7 LAN, d 35 30,250
1) A]AdH] 30,250
7hH 9 Ldx 420-03 [1,210,0009 x 252 = 30,250
) A 156,893
1) A A 420-02 [150,000,00091 % 3.785%= 5,678
2) A1AdH] 150,000
7hH H$ex 420-03 [60,000,00091 x 1] = 60,000
) Al x 420—-03 |30,000,0009 x 14 = 30,000
o) old % 420—-03 |30,000,0009 x 14 = 30,000
2h) Gtz 420-03 |30,000,000¢ x 12 = 30,000
3) Al EH] 420-05 [150,000,000¢9 x0.81%= 1,215
5. Al EFAANA (X143} 2L E] 1,612,173 866,865 745,308
b R e s e 81,418
1) AlAdH] 81,418
7H 498 % 420—03 [4,0009 X 334.28m'= 1,337
W) S diabx 420-03 |4,00091 % 1,215m'= 4,860
) 5% 420-03 [4,0009 x191.82m'= 767
2h) =A% 420-03 [4,0009 X 165.29m'= 661
n}) FAEx 420-03 |4,0009 % 1,575m'= 6,300
v =% 420-03 [4,0009 x1,710.76m'= 6,843
AP a2 2 420-03 [4,0009%x172.8m'= 691
o}) 4=A] % 420-03 |4,00091 % 616.25m'= 2,465
2} A= 420-03 |4,0009 % 2,168.23m'= 8,673




el AR w9 AR Apgi el 5 A% Aol 20224 (A) | 202194®) | $%(A-B)
A A4 A
2}) o} = 420-03 4,000 x 1,404.9m'= 5,620
7H W= 420—-03 [4,00091 X 1,506.4m'= 6,026
) R 420-03 4,000 x 1,642m'= 6,568
a}) ol 420-03 |4,0009 x 2,671.29m' = 10,685
) e 420-03 [4,0009 x 4,980.38= 19,922
U xn g 486,000
IR AR RA SN 330,000
7H $9%(4,010m) 420-03 (330,000,000 x 12)= 330,000
2) WRRAA 51,000
7h 9% (4,010m) 420-02 |40,000,000¢ x 14]= 40,000
W) Fdugx=(784m) 420-02 11,000,000¢ x 121 = 11,000
3) Wx14ds8 7t 105,000
7 Q19 %(1,046m) 420-02 25,000,000 x 14 = 25,000
W) o= (286m) 420-02 |13,000,000¢ x 14 = 13,000
) 1€3(3,5681m") 420-02 [67.000,0009 x 14 = 67,000
oF A7 (M) A 317,881
1) A A 420-02 |306,307,0009 X 3.0588%= 9,369
2) A|An 306,307
71 A= 420-03 21,879,000 x 221 = 43,758
W} 2% 420-03 21,879,000 x 341 = 65,637
) A= 420-03 21,879,000 x 14 = 21,879
2h) U9k x % 420-03 21,879,000 x 0.5 = 10,940
n}) A 420-03 21,879,000 x 14 = 21,879
v W o 420-03 21,879,000 x 6.5 = 142,214
3) A] A 420-05 |306,307,0009 X 0.72%= 2,205
a2} wral e 155,664
1) A A 420-02 |148,808,0009 X 3.795%= 5,647
2) A Al 148,808
7h H$ex 420-03 [6,764,0009 x 57} 2= 33,820
W dedmetx 420-03 |6,764,0009 x 17 &= 6,764
) 9= 420-03 |6,764,0009 x 47] 2= 27,056
2 Fst== 420-03 6,764,000 X 107) &= 67,640
n}) el 3 420-03 |6,764,0009 x 27] 4= 13,528
3) Al AR 420-03 |148,808,0009 X 0.812%= 1,209
nfp, A E S 403,498
1) AAm 420-02 |389,109,0009 % 2.9779%= 11,587
2) A Al 389,109
7h e 420-03 [129,660,0009 x 12]= 129,660
) g eEAkan 420-03 (259,449,000 x 12]= 259,449
3) A8 420-05 (389,109,000 x0.72%= 2,802




TE e At = — A5 AEUS 20229 (A) | 2021€d(B) | SH(A-B)
v, e H =R 7} 167,712
1) AAm 420-02 [160,510,0009) X 3.696%= 5,932
2) A AlH 160,510
7}) o)W % 420-03 |15,120,0009 x 14 = 15,120
) o} % 420-03 [11,060,0004€ x 12} = 11,060
) G 420-03 79,730,000 x 14]= 79,730
2 JeslsE 420-03 [11,200,000€ x 12} = 11,200
u}) w9l 3 420-03 [32,060,0004€ x 12} = 32,060
v welod 1 420-03 [11,340,000€ x 12} = 11,340
3) AlA R 420-05 [160,510,0009) % 0.791%= 1,270
6. 2] F-&F A (87 AduE E3H 1,043,710 1,741,146 -697,436
7} vl 2 247,031
1) AAm 420-02 [237,600,0009) X 3.249%= 7,720
2) A]AlH) 237,600
1 A% 420-03 352,000 X 280m= 98,560
) o} % 420-03 |352,0009 X 55m= 19,360
) G 420-03 352,000 X 60m= 21,120
2} JdstsE 420-03 [352,000€ X 100m= 35,200
n}) A 420-03 [352,0009l X 80m= 28,160
v Yelod 1 420-03 352,000 X 100m= 35,200
3) A] A 420-05 [237,600,00091 X 0.72%= 1,711
& 303,807
1) AAm 420-02 [292,558,0009) X 3.119%= 9,125
2) A AlH) 292,558
SRS P, 420-03 [103,000€l X 190m'= 19,570
W) g9z 420-03 [103,000€l X 270m'= 27,810
th) Fdekx = 420-03 [103,0009l X 420m'= 43,260
2h) YAtz 420-03 [103,00091 X 170m'= 17,510
n}) Yok = 420-03 [103,0004€l X 650m'= 66,950
v gdetsE 420-03 |362,0009 X 104m'= 37,648
Ap) A= 420-03 [103,0004€ X 340m'= 35,020
op) ol 420-03 [103,0009 x 350m'= 36,050
A G4 420-03 [92,0009 X 95m'= 8,740
3) Al AR 420-05 [292,558,0009) X 0.726%= 2,124
o} BA TR 282,449
1) 2AAm 420-02 |271,920,000€ X 3.148%= 8,560
2) A AH) 271,920
7H Fa Y= 420-03 [103,0004€ X 360m'= 37,080
W) $5% 420-03 [103,0004€ X 300m'= 30,900
) A % 420-03 [103,0009 > 280m = 28,840




Sk K oy AT AU < -5 AE S 2022€(A) | 20219 B) | =7 (A-B)
Tl A A A B B B = B = = oH
o) A% 420-03 |103,0009¥ X 600m'=
uh) G giabx 420-03 103,0009 x500m'=
vh) Akl 420-03 [103,0009 X 600m'=
3) Al -t v] 420-05 |271,920,0009 X 0.724%=
e e el
1) A A 420-02 |202,500,0009 X 3.193%=
2) AlAdH]
7h A% 420-03 45,0009 X 4,500m =
3) Al H-oiv] 420-05 |202,500,000€1 X 0.7197%=
7. A7 2 (X187} A€o 1] —74,720
7} 29 A1 (LED)
1) A A 420-02 |171,465,000€] X 3.603%=
2) A1Adn]
71 Abol = 420-03 4,970,0009 x 324 =
W) Fex 420-03 (4,970,000 x 32 =
o) dd4Ax 420-03 [4,970,0009 x 2.54 =
2h) AhdlE 420-03 |4,970,0009 x 14 =
uh) e 420-03 [4,970,0009 x8.54=
w}) sk w 420-03 [4,970,0009 X 16,52 =
3) Al F-ofv] 420-05 [171,465,0009%0.771%=
= e e R
1) AlAdH]
7H SA % 420-03 [2,960,0009 x 40kw=
t}. 7] et
1) AlAdn]
7h S A (AISSA)) 420-03 12,000,0009 x 12 =
W) G g T (87 ES) 420-03 |6,000,0009 x 24 =
8. AN (A7} A dali] 31,045
4 I S S M |
1) A Am] 420-02 |401,820,0009 X 4.14%=
2) A1AdH]
7hH Fdx 420-03 (96,990,000 x 34 =
W) Fex 420-03 96,990,0009 x 121 =
oH P (Fkatol) 420-03 [4,620,0009 x 34 =
3) Al F-tiB] 420-05 |401,820,000€) X 0.556%=
& 140
A 140
R A 140
AR SAELEY 140
1. BRARKTEA Y 0




R 87 &4 AT AU < A= 2=y o 2022 (A) | 20219(B) | 57
i B 2 B ﬁ B C - - SO
7} BAsrE A 0 3] 210-02 (1,000,000 x 13]= 1,000
FREXRNAILY 835 695 140
7} A 210-06 {100,000 x 79 = 700
. 39 3 230—-02 15,0009 x 97 = 135
.S uFALTEIA L 695 695 0
7} S g= 210-01 [50,000¢ x 2% x 23] = 200
AR o= 210-02 |600€) X 200% % 33| = 360
o}, & 9] 3 230-02 (15,0009 x 9 = 135
7SAut 4,414,951 4,125,140 289,811
T S3PA Aut 1,648,743 1,604,892 43,851
FEREE DR 12,270 12,710 -440
TS5AA7 Ay 10,870 11,310 —440
ZoAEAESFHYFEA 10,870 11,310 -440
7h FoPFA IR 960
1) A=Az 210-01 [5,0009 x 96%* x 23] = 960
o e TR e s 6,060
1) £98= 210-01 (50,0009 x 7%= 350
2) 2} 5 A 2 210-01 [5,00049 x 992%-= 4,960
) 7FA1H) 310-01 [3,000€ %1007 = 300
4) 3 9] 3 230-02 (15,0009 x 30 = 450
EREE R R 3,850
1) A=A 2 210-01 |5,0009) X 190% % 28] = 1,900
2) §j94§] 230—02 (15,0009 X657 x 23] = 1,950
B A B A 8 1,400 1,400 0
1. ulwumm FIRRYEE 300 300 0
7h A S qr A sk H 300
1) $98=% 210-01 [50,000¢ x 6% = 300
2. SAH=ZAL 1,100 1,100 0
7). 9 8= 210-01 [50,000¢ x13%= 650
1}, 3 ) 3 230—02 (15,0009 x 159 x 23] = 450
A 2 8,915 9,320 —405
PANEES) 8,915 9,320 —405
1. AA A 645 1,050 —405
7}, ZAATE 5] 250—04 |5,0009 x 3% x273]= 405
U AN AP S 210-06 |40,0009 x 69 = 240
2. BIA LY H 2433 8,270 8,270 0
7k oA B o) A g A 520
1) £98= 210-01 [50,000¢) x 2% x 23] = 200
2) ZIAS (AU 210-06 [160,0009 x 19 x 23] = 320
U A E A S 7,750




ngl BFH | 94 Al RSN Rt -3 Ao 2022:d(A) | 20214 B) | FH(A-B)
i < O < B+ ) T sEn - = S

1) oo9g= 210-01 [50,00049 x 9% x 23] = 900

2) A=A A5 210-07 (700,000 x 2ti= 1,400

3) APLEn (FH ) 210-15 [50,0009) x 437 = 2,150

4) AF&En) () 210-15 50,0009 x 457 = 2,250

5) §93 230-02 [15,0009 x 701 = 1,050
717 A B 5,764 5,764 0
e e ) 1,828 1,828 0
1. PR FAH /10 ALE (FAZRT A L] 1,828 1,828 0

7h S ARG 7) 1,828

1) ApA138 74 24 A 5 3 °00

7 A5 A = 210-01 [5,000€ X 100%+= 500

2) AAB 7912 3 1,328

7hH 9= 210-01 [50,000¢ X 4 x 23] = 400

W) A=A = 210-01 [4,8009 X 10%-= 48

th) A=} 210-06 [100,00091 x 37 x 23] = 600

2}) 223 A n) 7 ) 210-06 (20,0009 x 3% x 23] = 120

n}) A1) 230-02 [8,00091 X107 x 23] = 160
FHMAEETA L 3,936 3,936 0
1. /IR IZEF3} 3,936 3,936 0

7h e edE g 3,936

D) $og= 210-01 |50,0009 x 15 x 43| = 200

2) A=A 2+ 210-01 [5,000€ x 200%+-= 1,000

3) Ak Z (LR 1,000

7 7= 210-06 [160,000€ x 19 x 43] = 640

) x4 210-06 [90,000€ X 19 x 43]= 360

4) du 8 210-06 [14,000€ x 3w x 277} x 43| = 336

5) 2t 210-07 [700,000¢1 x 2= 1,400
T2 PR DA AA 0 A 12,105 11,407 698
LEFPRAN LAY 8,400 8,982 i
1. A a#a ey 8,400 8,982 ~582

7h Ak w5 A 8- 2,000

1) o993 210-01 [50,000¢ X 20% x 23] = 2,000

b A A B 5,100

1) AAkAn] g 210—09 [100,0009 X 5F X 63]= 3,000

2) EYIFA 1S 210-09 [26,250,0009 x 8%= 2,100

oF A S AN 1,300

1) 2} 430-01 [250,000¢1 x 2] = 500

2) u}o] et 430-01 [150,000¢1 x 2] = 300

3) o1&} 430-01 [250,000¢1 x 2= 500
AP ZEERT 3,705 2,425 1,280




74 ) |=]
s ?}Zj 3;3 fﬁg At = — A5 AEUS 20229 (A) | 2021€d(B) | SH(A-B)

1. 7|2 A A3 3,305 2,265 1,040

7k 588 5.000

1) 985 210-01 |50,0009 X 10%F x 63]= 3,000

. 715=% 714 9 3 305

1) 345 210-06 100,000 x 2 = 200

2) & 93 230-02 15,0009 x 7%= 105
2. AR FNLY 400 160 240

7t AR F A Q) 3 400

1) #FAFF 210-06 100,000 x 49 = 400
o AAt g 800 400 400
oAt 800 400 400
1. &I A GAEAZFA 800 400 400

7} A E A= 210-01 |5,000¢ x 160%5-= 800
A5 199,213 68,068 131,145
FTHANLEZ T 199,213 68,068 131,145
1. F3AAEE 5,678 6,357 -679

7V AN SR 210-01 (839,000 x43]= 3,356

U 2HEo)| 844 210-01 [161,0009 x 23] = 322

o} oA A2 0] 3] JA L= 210-06 [100,0009 x 47 x 23] = 800

2}, & <] 3] 230-02 15,0009 x 87 x 43]= 480

o}, # A BEn) 250—04 60,0009 x 17 x 129 = 720
2. ¥ 2 A A (A 52} A w1 10,000 10,000 0

7}, ¥ o e 210-09 |5,000,000¢ x 27§ 2= 10,000
3. EEFHYYFFR (A %3} A g o) 2] 136,645 0 136,645

7} AR 27 HEE 136,645

1) x5stw 620—03 [89,885,000¢ = 89,885

2) Z8hw 620-03 |46,760,00091= 46,760
4. 71 epAj Aol (A %3} A o) 2] 8,413 0 8,413

7b OF) A AR AEAH A F7bY | 410-01 (65,1609 x54m'= 3,519

U, FA) 5 2R A A ZAZA 410-01 |27,2409x77.8m'= 2,120

of, S ol 2 S w B ARG A ol Q] | 410-01 |277,4009 X 10m'= 2,774
5. X/ ATFAIE F A 3] (A7 AL E] 38,477 31,711 6,766

7}, WS- A A T A 3 1) 210-02 |38,477,00091= 38,477
ERNEEE, 1,176,969 1,190,290 -13,321
shAY | X A # e 1,176,969 1,190,290 ~13,321
1. 3 AL EEEREEES 1,120,389 1,130,140 -9,751

7} Eeh Aok S 1,000

1) $olgx 210-01 [50,0009 x 5% x 23] = 500

2) A (4 500

b 718 210-06 160,000 %1 x 23] = 320




nol A% | & AR Apejuy el == Az 20224d(A) | 202149 B) | 27 (A-B)
Tl | oA | A ) T e = 4 s
W) =3 210-06 |90,000¢1 x 1 x 23] = 180
U AW AL A= 210-07 |65,409,880¢1 x 9rj= 588,689
o ESH AT 284,000
1) t& (459%) 430-01 |142,000,000¢ x 2t} = 284,000
2}, £8hH A9 620-03 [10,204,340¢1 x 23t} = 234,700
o}, A e An] 110-03 [120,000491 X 1003] = 12,000
2. A EB= Y pEERBEEY 56,280 59,850 -3,570
7}, A H) 2] 9 620-03 [11,256,0009 x 5tf= 56,280
3. AU YT 300 300 0
7}, SolgE 210-01 |50,0009 x 3%= 150
L}, & 9] 3] 230-02 |15,000¢1 X 104 = 150
L] 13,492 11,934 1,558
SR g =) Zo] g 10,622 9,304 1,318
1. tu 299 g3 A [NFEAN U RS A u]E E3H] 5,584 5,266 318
7h St el d g 4,584
1) S9a= 210-01 50,0009 X 50% = 2,500
2) 7 g (R 250
71 718 210-06 [160,0009 x 1= 160
) =3 210-06 [90,0009¢ x 1= 90
3) duw 210-06 |14,000¢] x 31} X 24| k= 84
4) 22t 21007 |500,000¢ x 1t x 23] = 1,000
5) 93 230-02 [15,0009 x50 = 750
uh Shale g 91 g | 2l 8 1,000
D) $oge= 210-01 |50,0009 x 2%= 100
2) 2|3 23002 |15,00091 x 59 x 123] = 900
2. R T8ty o g3 ¢ (FITRd AduE 23 5,038 4,038 1,000
7b. SRS w e A 4,000
1) $adgx 210-01 36,0509 x 4% x 103] = 1,442
2) A=A 2t 210-01 [10,000¢1 X 100%= 1,000
3) A (5E) 700
7H 7= 210-06 |200,000¢ x 17 x 23] = 400
W =3 210—06 [150,00091 % 178 x 23] = 300
4) Y7 210-06 (14,0009 x 31l X 2A1 2k X 23] = 168
5) 7+211) 310-01 |3,000€ x 359 x 23] = 210
6) 2] 310-01 [8,000€ x 30 x 23] = 480
L I AR A 1,038
1) $94= 210-01 50,0009 X 5% = 250
2) A (4R 500
71 78 210-06 |160,000¢ x 274 = 320
W) 23 210-06 90,0009 x 27 = 180




) |=]
S E{;j ﬂ;g Abd i e == Az 2022€1(A) | 20219(B) | 5%
3) Quxm 21006 |14,0009 x 31 x 21 x 24| 7b= 168
4) An 310-01 [8,00091 x5% x 33 = 120
T5FEAY 2,870 2,630
1. 3 S5EHAIEA L &= FAZRT AL ] 2,570 2,330
7h WS AW A AL 2,570
D $ojgx 210-01 (50,0009 % 16%= 800
2) It 210—06 |100,000€9 X6 x 23] = 1,200
3) A v 210-06 |20,0009 x 6% = 120
4) & 9] 3 230-02 [15,0009 x 154 x 23] = 450
2. ISA AR SEYA A 300 300
7h a5 YA F31 300
1) 98+ 210-01 50,0009 X 6F= 300
A2 T &g 219,215 294,999
A2 A9 219,215 294,999
1. A AN FRA ¢ REERELES 219,215 294,999
7}, St A ] e 219,215
1) &4 210-09 |185,512,0009 x 14]= 185,512
2) HAae Ly 210-13 [32,127,0009 x 12 = 32,127
3) Al F-tv] 420-05 [185,512,0009 %0.8491%= 1,576
o3 2,766,208 2,520,248
71291 513,165 813,210
71 #7182 H] 513,165 813,210
1. 712947341 31,560 30,270
7} 713 7) -2 73 ) 31,560
1) 7| BAAAF AT 250-02 [400,0009 x12¥8= 4,800
2) 713 FF-Fx10] 230-01 |21,000,0009= 21,000
3) A7 = 21) 230-01 [80,0009 x 72 = 5,760
2. FA 7129 73H] 185,262 168,752
7} w5 A v} 92,676
1) Ay 9,936
7h) B 210-01 |1,200,0009= 1,200
) AR 210-01 |416,0009) x 21 = 8,736
2) EZu]aln] 210-05 [8,0009 X217 x453]= 7,560
3) =udjon] 66,780
7H 220-01 [20,0009 X 21 x 843]= 35,280
W) =4 220-01 [40,0009 x 219 x 273] = 22,680
) £9 220—01 |70,0009 X217 X 63] = 8,820
4) BAgol AN 210-15 [400,0009 x 129 = 4,800
5) AATAFGH 250-02 [100,00091 x 129 = 1,200
6) S8 A54n 2,400




A =0 [e)

v A0 | o Al == RENE 20229 () | 20219®) | Z7((A-B)
7} S uRAg TR 250-03 [60,0009 x 1% x 129 = 720
W) BAAnSEEsTd 250-03 [60,0009 %1% x12¢= 720
o) B Sy 250-03 [80,0009 x 1% x 129 = 960

L. 2B A 3} 92,586
1) gy 14,096
71 FA 210-01 [1,200,0009= 1,200
W) e 210-01 [416,0009 x 313 = 12,896
9) E1u]AlH] 210-05 [8,0009 x 317 x 253] = 6,200
3) =] 55,490
7hH #) 220-01 [20,0009 x 317 x 448 = 27,280
) =y 22001 40,0009 x 31 x 143]= 17,360
th) 9 220-01 [70,0009 X319 x 53| = 10,850
4) B9l AN 210-15 [410,0009 x 12¢ = 4,920
5) A o] T3 7 1] 250-02 [100,0009 x 129 = 1,200
6) ST 10,680
7} oAb E ) 250-03 [150,0009 x 3% x 129 = 5,400
W) #ArEE s 250—03 80,0009l x 2% x 129 = 1,920
) | AGG T 250-03 [60,0009 x 3% x 129 = 2,160
eh) SR EH s 250-03 |100,0009 x 14 x 129 = 1,200
3. 71&-29 73] 174,327 180,906 -6,579
7F. ZARA A G ] A 23,805
1) 2] gAn) 210-09 [2,729,0009¢ x 13| = 2,729
2) TAFLA}EN 210-09 [2,000,0004 x 13]= 2,000
3) AL AFEGA B 210-09 [100,0009 x 129 = 1,200
4) BAAE A K 210-09 [150,0009 x 129 = 1,800
5) t)AEEE7 e} 8 210-07 [223,2509 x 129 x 4tj= 10,716
6) A4=7] 2z 210-07 [40,0009 x 7t x 129 = 3,360
7) HAFRLALE RE H A 210-09 [2,000,0009 x 13| = 2,000
. Ak 16,400
1) 3FA A EoLA A 7 8o 210-13 [1,450,0009 x 23] = 2,900
2) g 210-09 [5,000,000¢ x 23] = 10,000
3) Lo gE 210-01 [50,000¢ X 35% x 23| = 3,500
= Ry 3,800
1) 92 A7) 210-09 [500,0009 x 141 = 500
9) Mol Au| g 210-13 [275,0009 x 129 = 3,300
eh, HEAF Y 15,702
1) 858 (20,000kme]”d) 210-10 |7,824,0009 x 1t)= 7,824
2) ofl 7 244 (10,000km™] ¥H) | 210-10 [7,878,0009 x 1th= 7,878
wh, AR 3 ) A 48,400
1) AFH 430-01 [1,200,0009 x 12t} = 14,400




gl A [ w9 AR Al CROE Ao 2022d(A) | 20219®) | =2@a-B)
i A < I < I I B o o = = o
2) LEX 430-01 [1,300,0009 x 2t} = 2,600
3) ZE (A4, 28] 430-01 [1,000,0009 x 3= 3,000
4) AFF-8-0) 2} 430-01 [250,0009 x 10t)= 2,500
5) A% 430-01 [625,0009 x4t = 2,500
6) glzn A 430-01 [2,000,0009 x 2t = 4,000
7) o] %2147} 430-01 (2,500,000 x 1t)= 2,500
8) Z7kgerx} 430-01 [234,0009 x40t} = 9,360
9) o]l o=} 430-01 [70,0009 x80t)= 5,600
10) AF=3F 430-01 [240,0009 x1t)= 240
11) W] 430-01 [1,700,0009 x 1t)= 1,700
uf, Ake-9 7 W 11,260
1) $ag= 210-01 [50,0009 x 10% x 23] = 1,000
2) 9]xLel 7 210-01 [15,0009 x80% = 1,200
3) A7y ELE 210-01 [17,0009 x 257 x 129 = 5,100
4) AN EFE 210-01 [46,0009 x 10%= 460
5) WA 210-01 [100,0009 x 34 E= 300
6) TA]T-IH] 210-01 |10,0009 X507 x 23] = 1,000
7) okEelu] 210-01 [20,0009 x 10%= 200
8) 1 Hn) 210-03 [400,0009 x5 = 2,000
Ab. e 2,230
1) Z2HrelAd 7] 23] 1) 210-02 [50,0009¢1 x 13]= 50
2) ArAAgAdg 210-13 [140,0009 x 129 = 1,680
3) 2ubghH| RS 210-09 [100,0009 x53] = 500
o}, 7] 4,180
1) AR 210-09 [500,0009 x 23] = 1,000
2) A7t A AL AT 210-13 [265,0009 x 129 = 3,180
Al & E 8w WAA 48,550
1) A719& 210-02 [2.625,0009 x 129 = 31,500
2) Azpo =+ 210-02 [800,0009 x 129 = 9,600
3) QIE| Y EAIR 210-02 [400,0009 x 129 = 4,800
4) $HoF 210-02 [100,0009 x 28] = 200
5) At o= 210-02 [150,0009 x 129 = 1,800
6) NARZ=RIE 210-02 [50,0009 x 137 = 650
4. YoAAETFAHL D (258207 A Luj#] 122,016 433,282 ~311,266
7t 713889 ) 122,016
1) 72 A A A = 210-01 [5,0009 x200% = 1,000
2) AHkon] 3,250
7h 7B 210-01 [100,0009 x 103 = 1,000
W) 7Rl 210-01 [150,0009 x 159 = 2,250
3) 71#7] &% 4,900




Z ) |=]

= ﬁzj 3;3 fl;g A e E-AE A& 20229 (A) | 20219(B) | 3%
7 FEekE 210-01 [15,000€ x20%&=
) EZujaly) 210-05 [8,000¢ x5 x103]=
o) 7)1 g FEF=71) 230—-01 |200,0009 x12¥=
o)) A A FAFES-3 A 8] 250-02 [150,0009 x 129 =
4) o]
7H 4 220-01 [20,0009 X174 X 63| =
) Zuf 220—01 |40,0009 x 179 x 33]=
5) AW E TS
7H AN ETE 210-01 [15,0009 x2F x12¥=
6) & & LAA
7hH A3 F 210-02 [130,0009 %129 =
) ClE Y EAIH) 210-02 [400,0009 x12¥=
o A7+ 210-02 [2,300,0009 x 129 =
) ANER 210-02 24,0009 x 129 =
ul) AT 210-02 |170,0009 x123]=
vh) 7tAJAFTE 210-02 |50,0009 x 13] =
A AR EFZHRE R 210-02 |100,0009 x 13]=
oh) &AM FE I 210-02 [22,0009 x 23] =
7) A /\4 k= O]E]—B_oﬂu]
7 <173 n]8-994] 210-13 [295,0009 x 129 =
) AukA) A )b 210-13 [160,00098 x 129 =
b =737 A BSH) 210—13 [122,0009 x12€¥=
2 A7|erA e v s 210-13 [160,0009 x 129 =
u}l) Ak} oA ha] 8o H) 210—-13 |150,0009 x12¥=
8) Al ] A B
7H A7) B 210—09 [40,0009 x7t) x 129 =
) AEAE 210—09 [210,0009 x53]=
o =983 210-09 [165,0009 x 23] =
2}) AAHdn] A e 210-09 [150,0009 x 123] =
u}l) Al A #E)H) 210-09 60,0009 X 10& x103]=
vh) AlE] &7 ) A S5A 8] 210-09 [1,000,0009 x12¥=
AP A EAR-Y 21009 |50,0009 X 8% x 53] =
op) =X T 210-09 50,0009 x103]=
ZH AL EE 210-09 [200,0009 x123] =
ZH) EAp|dd 8 210—09 (180,000 x 1th x123]=
7hH A28 210-13 (60,0009 x 30t)=
B F713 479U & 210-09 (40,0009 x 15t x12€=
9) HEFT4
7h) #AE 430-01 |1,200,000¢ x 3tf=
) Fuk7)| A w7 430-01 |4,400,000¢ x 1th=




ne| A3 4 A - ol o o AlZ= 1o ==
TE e el A AU < A= FEU S 2022d(A) | 20219 (B) | SH(A-B)
) AdSAE gL 430-01 |2,200,0009 x 1tj= 2,200
o)) 21 &Aoo 430-01 [750,000¢ x 2= 1,500
u}) elgn] A 430-01 |2,000,000¢ x 2t = 4,000
np) k=] 430-01 [5,000,0009 x 1tj= 5,000
TS A7) BAA A 2,253,043 1,707,038 546,005
EREEES) 2,253,043 1,707,038 546,005
1. ZSALAAAL (A& 3} A e £] 2,253,043 1,707,038 546,005
7. BARFA) #E) 210-09 [300,0009 x 424t} = 12,600
15 e RS R Ry 433,077
1) AAm 23,985
78 A A4 A ) 420-02 (399,700,000 % 4.75%= 18,985
) FZHEN] 420-02 |5,000,0009 x 12} = 5,000
2) A1Adn] 399,700
7hH 3 ga== 420-03 (159,880,000 x 2.5 = 399,700
3) 7Z+eln) 420-04 [399,700,0009 % 1.63%= 6,515
4) Ejn) 420-05 [399,700,0009 %0.72%= 2,877
o} F g IALOl HAL S 1,779,151
1) A A 257,371
71 A A A ) 420-02 [5,405,970,000¢ % 4.09492%= 221,371
) A A 35 H] A 420-02 |36,000,0009 x 12] = 36,000
2) A4 1,081,194
7 Eg-FA}o] A A= 420-03 [1,081,194,0009 x 14 = 1,081,194
3) 7+g)n) 420-04 |5,405,970,000¢ X 8.15%= 440,586
gt 7SR EA LY EEE 28,215
1) AlAdn] 28,215
7 Mgl rdd 420-03 |1,045,0009 X 27 m'= 28,215
2,966,472 2,825,785 140,687
EiPl 2,966,472 2,825,785 140,687
Q1zin] 2,966,472 2,825,785 140,687
ZZ A AR 2,966,472 2,825,785 140,687
TSFERYGAN 2,966,472 2,825,785 140,687
1. A8 TEA g An #T 2,966,472 2,825,785 140,687
7F A0 P Ed g 14,237
D 71&a 110-04 [1,840,00091 x 1% x59= 9,200
2) F21H) 11004 |140,0009 x 18 x 59 = 700
3) WAF R AT 110-04 1600,000¢ x 17 x 18] = 600
4) grE=3HE 2 n) 240-02 [550,0009 x 178 x5/129= 230
5 HAAHS 320-12 [2,329,0009 x 1= 2,329
6) AR 7| AT 320-12 [10,500,0009 x 198 x11.21%= 1,178
Lt WeeAlEJALE] 2] AFQI A H [MFA R L5322 2] 44,421




A =0 [e)

HE A‘j}cg 3;3 AU =il A2 S 2022d(A) | 20219 (®B) | =%
D 7129 110-04 |2,040,0009 x 1% x 12¢ = 24,480
2) &5 110-04 [420,0009 x 1% x12¢¥= 5,040
3) F24H) 110-04 [140,0009 x 1% x12¢¥= 1,680
1) 7M1= 110-04 40,0009 x 1% x12¥= 480
5) WAFIIERASE 110-04 600,000 x 17 x 23] = 1,200
6) 7)Aol 110-04 450,000 x 1% x 23] = 900
7) YRS 110-04 |12,440€ X 17 X 100X 2k= 1,244
]) A4 110-04 (99,5209 x 1% x153]= 1,493
9) 43 H 2)n) 240-02 [550,000€ x 19 x 13] = 550
10) §AAHF 320—-12 |3,600,0009 x 14 = 3,600
11) 47| dF T+ 320-12 [33,480,00090 X 11.21%= 3,754

o} Wee Al B A EAFGAFQI A 1] (A el 53} 2wl ] 87,666
1) 7135 110—04 |2,040,0009 x 2% x 129 = 48,960
2) L&) 110-04 |323,7509 X2 x 129 = 7,770
3) F2H] 110—04 |140,0009 x27 x 128 = 3,360
4) 7ME553 110-04 [120,0009€ x 1% x12¢¥= 1,440
5) WAFIIRAHE 110—04 600,000 x 27 x 23] = 2,400
6) 7)ol 110-04 450,000 x 27 x 23] = 1,800
7) 2L EFG 110-04 12,1009 X 29 X 100A] 2+= 2,420
8) A} 110-04 [94,8009 %27 x 153]= 2,844
9) =3 B 2)H) 240-02 [550,000€ x 29 x 13] = 1,100
10) §AA=HF 320—12 [4,100,0004 x 29 = 8,200
11) 43 7| dH g+ 320—-12 (65,760,000 X11.21%= 7,372

2h, &8 A9k A T AR 7 W] (33737 A Q& 438,832
D 7 EFRESY 367,380

7H 8-x4 620—-01 |31,370,0009= 31,370
W) 258w 620—01 |336,010,00091= 336,010
2) HAAH T4 RIS 71,452
7H 8-x4 620—01 |6,027,0009= 6,027
) 258w 620—01 |65,425,00091= 65,425

b 29718 (A D) 29,060
D 7185 110-04 |1,610,0009 x 18 x12¢9= 19,320
2) F211) 110-04 [140,0009 <1 x12¢¥= 1,680
3) HAFIIR A 110—04 |600,0009 X 17 x 23] = 1,200
4) A5G 110-04 (66,9409 x 1% x17d= 1,138
5) g3 H 2 n) 240—-02 |550,000¢ x 19 = 550
6) ¥R A+ 320-12 [2,369,0009 x 1= 2,369
7) AR BEGF 320—12 |25,000,00090 x11.21%= 2,803

v, WA AR 7 ] [ra w43 A dui] 2,104,660
D 715 110-04 (1,840,000 X497 x 129 = 1,081,920




] o H
SR ;}cg 3;3 fl;g At < Z_A= e 20229 (A) | 20214 (B) | =2
2) L&) 110-04 [558,333¢0x49% x129= 328,300
3) 3211 110—-04 |140,0009 x 497 x 129 = 82,320
4) 7VEFG 110—-04 41,6329 x49% x129= 24,480
5 WAEIIR AL+ 110-04 1600,000¢ x49%g X 23] = 58,800
6) A7) o] & 110—-04 |900,000¢ x 497 x 18] = 44,100
7) AxFG 110-04 |2,152,7959 x 499 = 105,487
8) TrE3d Ex)n| 240-02 [550,0009 x 49 = 26,950
9) HAAYZ 320-12 [3,267,7349 x 49 = 160,119
10) 4R 7| dH I 320-12 [1,714,391,7609x11.21%= 192,184
b, 2pEF A AR A ] (A QAT ALl L T3 50,714
1) 7185 110-04 |1,840,0009 x 1% x 129 = 22,080
2) L&Y 110-04 |700,0009 x 1% x 129 = 8,400
3) 2] 110-04 |140,0009 x 18 x 129 = 1,680
4) 7t&Ed 110-04 ]120,0009 X1 x12¢¥= 1,440
5) WAEI R A 110-04 [600,000€ x 17 x 23] = 1,200
6) A7)+ 110-04 [450,000€ x 17 x 23] = 900
7) 2RSS 110-04 |250,0009 x 18 x 129 = 3,000
8) A} 110-04 [2,463,000¢ x 14 = 2,463
9) T3 Ex)n) 240-02 [550,0009 x 1= 550
10) §1288+ 320-12 [4,373,1509 x 19 = 4,374
11) 4917 ARG+ 320—12 |41,275,6469%11.21%= 4,627
o Al T AJAAH (G A D eHEFAH) (RS A7 2ol ] 31,481
1 7135 110-04 [1,840,0009 %1% x129= 22,080
2) A1) 110-04 |140,0009 x 1% x 129 = 1,680
3) WAEI R A 110-04 [600,0009 x 17 x 29 = 1,200
4) A=} 110-04 (76,6009 x 1 x 169 = 1,226
5) T3] B ) n) 240-02 (550,000 x 17 x 18] = 550
6) HAAHT 320-12 [3,100,0009 x 1% = 3,100
7) 4R AE G 320—12 |24,510,0009 X 6.71%= 1,645
2b g (YA A stz AlE) (24P A L] 20,894
D 7185 110-04 1,150,000 x 1% x 129 = 13,800
2) 211 110-04 |140,0009 x 1% x 129 = 1,680
3) WAEIIE A 110-04 [600,000¢ x 17 x 29 = 1,200
4) A 110—-04 50,1009 x 1 x18% = 902
5) g3 H 2 n) 240-02 [550,0009 %19 x13]= 550
6) HAA+ 320-12 1,661,000 x 14 = 1,661
7) AR AEGF 320—12 |16,408,00091 X 6.71%= 1,101
2t @ FARRIZAB] (P o A H g5 Al E]) (25PN A L] 51,868
D 715 110-04 2,040,000 x 1% x12¥ = 24,480
2) L&y 110-04 |700,0009 x 1% x12¥ = 8,400




no e 7] AT At S L A=Y 20229 (A) | 20219 ®B) | #(A-B)
Tl | oAl | Ak . B . = = il
3) F241] 110-04 (140,000 x 1% x12¢9= 1,680
4) 7= 110-04 |102,0009 X1 x12¢¥= 1,224
5) PRS- 110-04 (50,0009 x 1% x12¢¥= 600
6) 7153 110—04 [100,0009 x 1% x12¥= 1,200
7) HAFIIRASE 110-04 |600,0009 x 1% x 24 = 1,200
8) A7 o+ 110-04 [450,0009 x 17 x 23] = 900
9) Az 110-04 [120,0009 X1 %24 = 2,880
10) @& E2)H) 240-02 [550,0009 x 19 X 13]= 550
11) 51388 F 320—-12 |4,141,0009 x 14 = 4,141
12) A3 7|dH T+ 320-12 [41,150,00090 X 11.21%= 4,613
7h 2 FAFA A7) (P ol A A eHF A E]) (2T A Lu ] 92,639
1) 7185 110-04 |1,840,0009 x 2% x 129 = 44,160
2) &) 110-04 |595,0009 X274 x 128 = 14,280
3) F2H] 110-04 [140,0009 x 2 x 129 = 3,360
4) ZYA5F 110-04 (92,0009 x 1% x12¢¥= 1,104
5) 9P LRS- G 110-04 50,0009 x 27 x 124 = 1,200
6) 71E5% 110-04 [100,0009 x 2 x 129 = 2,400
7) HAFIIRAFE 110—04 |600,0009 x 27 x 24 = 2,400
8) A7 A o]+ 110-04 [450,0009 x 27 x 23] = 1,800
9) A} 110-04 [104,0009 % 2 x 20 = 4,160
10) 2E=38 B2 n) 240-02 [550,000€ x 29 x 13] = 1,100
11) §AA=HF 320—12 (4,239,500 x 29 = 8,479
12) 4Ry 7] B 320—-12 |31,803,33094 x 2% x11.21%= 7,131
13) v elE A ] 110-03 71,0009 x 17 x 159 = 1,065




